PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

17th July 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Study the following figure carefully and answer the question. The triangle represents
doctors. The circle represents players and the rectangle represents artists./

Fafafaa
3G BT AT A eAg= B 3R | Yl o1 5a1q &1 Hwior siqext &f e=ifar 31 99 faanfsal <t axifar @
3R AT FATHRI B g=ITaT B

£
AUy

How many players are neither artists nor doctors? JAC TR @E‘I@’f T HATDIR % MR T Bl Sidex
22

° 4

* 3

e 22

® None of these /ET-I'ﬁ I aﬁ'é Hﬁ
Correct Answer :-None of these /E'H'l?f I ?ﬁ's: et
2)

Question Stimulus :-

P is equal to or not shorter than Q. N is as tall as P. M is taller than or equa!I to N. Then
which of the following is certainly correct? / P, Q & T 3(Udl ITA BIeT A8 & N IdT gl et
g e f Pl M, N 9 a1 91 39 R1R g1 @ 9 & 9 &9 a1 +y= [fda & 9 82

(x) M is taller than P / M, P ¥ &% g|

(y) Nis equal to or tallerthan Q / N, Q & g GIWW'\QFIWT%

® x alone /aﬁﬁx



® yalone / Fad Yy

e bothxandy /GHixTdy

* neitherx nory/xTd y# | I3 T8I
Correct Answer :-y alone / $dd y
3)

Question Stimulus :-

Who was the first speaker of the Lok Sabha? / GICE: K2 Wﬁ a1 BT U2
* K.S. Hegde/%@%’ﬂ%
® Hukam Singh / §PH ﬁ’l?
® M. A. Ayyangar / TH T 3[&R
® Ganesh Mavlankar / TTOIRT HTTAH

Correct Answer :-Ganesh Mavlankar / TTOIR[ HTd¢iY

4)
Question Stimulus :-

In India, the monetary policy is controlled by ./ HRd o Aifgw ifa g frafa far srar %I
® Finance Minister / fa=1 ¥t
® Union Government / $% AP
® Reserve Bank of India / HIR1T f¥od 9@
® Finance Ministry / ICEREIGD]

Correct Answer :-Reserve Bank of India / HIRd g f¥ed d

5)
Question Stimulus :-

Who was the first governor general of free India? / Tdd HRd & UYH TR SFRd B A2
® Lord William Bentinck / ?I"I% fachaw s<fie
e Lord Canning / dis &



® Lord Mount Batten / GIRK: I i |

® ].ord Dalhousie /?I'\I'é' RS

Correct Answer :-Lord Mount Batten / @8 HIGC e

6)
Question Stimulus :-

Three friends want to hire a taxi for a trip. The taxi owner provides them with following

three options: / @1 GRd TH a1 & oI U it fAvE R &A1 918 &1 i wifere 3= Fufafaa
T faped uer o= 8:

A. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for Rs. 500 per day. / A. 3l ﬁm@m%

TR fHIE R @ Iwd &1 I9ST fH=man ufafes 2500 T ghmmI grgar gut Toldt | o1 Jhdl § IHBT Aa
500 Ut yfdfes ghm|

B. You can hire the taxi with driver from the first agency. This would cost you Rs. 2800 per
day. But driver will have to be provided reli_ef fund of Rs.250 per day if total distance
traveled exceeds 1500 KM. / B. 37 Ugd! Tolkil ¥ AR & WY TRA & AP g1l IqHT 2800 Ufa

&1 $ud 31 WA M@ AfP SR &1 uid f&d77 250 A Agd BV &A1 7hM, Al o g&f BT a1 HF 1500
fpariter 9 aifere ghft

C. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for 50 paise per KM. / C. 3l ﬁmm%

¢t fHE R @ T d &1 ST - ufdafds 2500 FU¢ R STEaR gasl Told! | 3T Al ¢ SUBT dad
50 99 yfa feeriter gimi

If they had planned to travel total of 6000kms in 5 days. Which option would have been

%i:rter? / af¢ 3 3@t 5 &A1 A 6000 fFaiier @t Ta =T FA B ST 8, @ B AT fAved dgaR
?

e A

e B

e C

e EitherAorC/A TT c ®Is ot
Correct Answer :-B
7)
Question Stimulus :-

Following are three views of a cube. Which of the following options is opposite to the face shown at the right? / Tt

3R W AP B g9 B 7o F1 & € wics fpar wiran €, @ o el & & 19 4 fave # voe
It 3R e T v & faudia @2



)

DHE

laa

Correct Answer :-

8)
Question Stimulus :-

In which district is the Acchnakamar sanctuary located? / oy fore & sAM®UR rvaRvy fRa %?

e Morena / g1

® Ratlam / XddTH

e Annuppur / UgR

® Rewa /ST
Correct Answer :-Annuppur / SFUJR
9)

Question Stimulus :-

Sihoniya, known for “"Kakan Math” Shiva temple is located in which district of Madhya

Pradesh? / “&1&4 Ha" 19 #fer & forg S R arar R, #ea udw & fry fora # fRia 82

° Morena/'ﬂa:n
e Gwalior / qIferaR



* Shivpuri / Rragdt
® Sheopur/ Yiﬂ'ﬂ?

Correct Answer :-Morena / JRAT

10)
Question Stimulus :-

Who won Silver Medal in Wrestling in London Olympics 2012?/ g 3Mdfuey 2012 # o d
e fpae Sitar ur?

® Yogeshwar Datt/ Tﬁ'ﬂ"ﬁ? qd
® Gagan Narang/ TRTH IR
® Saina Nehwal/ JIg-T ﬁm

® Sushil Kumar/ g $UR
Correct Answer :-Sushil Kumar/ g $HR

11)
Question Stimulus :-

The Ramakrishna Mission was founded by / I T fi== frad gr1 =T foar am o
® Swami Vivekananda / Wt ﬁﬁm
® Ramakrishna Paramahamsa / JHP 0T TRHGH
® Sarada Devi / Rl %aﬁ
® Mahendranath Gupta /H%WU Bl

Correct Answer :-Swami Vivekananda / ST} fad®rg

12)
Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / & Teg SMTYR T 991 %6 §| 9 & § G0F =gl &1 g Jd SIoR
Paisa : Rupee :: / T : 04T ::

® Kilogram : Quintal / faumy : fPea



® Meter: Centimeter / Hew : AdtHier

® Coin: Money / IGECIRKG]

e Weight:Ton / HR : T
Correct Answer :-Kilogram : Quintal / fearm : fdea
13)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu

g siab sl AR Rrw s & a2 -

It is not true that both Ram and Shyam are champions. / 98 9d 78! & & &9 I 3R W™
fasian 21

e Ram is a champion or Shyam is a champion. / ITH T f3sidT & 91 <917 U fasiar 21

e Ram is not a champion or Shyam is a champion. /?‘I’HWﬁﬁﬂT qﬁ%mmwﬁﬁm

gl
e Ram is a champion and Shyam is a champion. / JTH & fasidr 8 3R 2a1H U fasidar 8

e None of the above / IWRIad HIg el

Correct Answer :-Ram is a champion or Shyam is a champion. /mwﬁﬁm%mm
uw faear g1

14)
Question Stimulus :-

When was the Preamble to the India Constitution last amended? /'l-l'l?i'ﬁ'q TRIYE $1 g A e IR S Iy
forar rar um?

® 2013
® 1976
® 1982
® 1991

Correct Answer :-1976

15)

Question Stimulus :-



Select the option, which is the logical equivalent of the statement given below: / dg foweu

gResiab sl AR Rrw sy & qu= 2 -

It is not true that both Latha and Geetha love coffee / I8 U gl ¢ f I @dT 3R fidr &1 HIwt
Wig §

e Latha loves coffee or Geetha loves coffee / @dT &I BIW! THE g IT MdT Bl HIBI W e
e Latha loves coffee and Geetha loves coffee / @dl &I HIB! TG g 3R 1T B! BB YHe 8

e Latha hates coffee and Geetha loves coffee / @dT &I HIUl ATHRIG & 3R T B! BB g
g

e Latha loves coffee and Geetha hates coffee / @dT &I BIB! TG g 3R Al Bl BB ATIHS

?
Correct Answer :-Latha loves coffee or Geetha loves coffee / @dl &I ®IB! TRig @ dT T
P! PP TS 2
16)
Question Stimulus :-

Rabindranath Tagore got the Nobel Prize for Literature, for his work . | IAg AT TR B AT RYPR e
T, I9P a1 & e

® Gitanjali / aiifer
® Rabindra Sangeet / Ifd% TId
® Gora/TRI

® Ghare- Bhaire / ﬂ%—‘ﬂ%

Correct Answer :-Gitanjali / Tidicifer

17)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 fase gfQ
it f3E e Sy=Y ud fshuf & 9 § 9 2

Statements: / HY-:
All lions are animals / I 3R SR &
All tigers are animals / JH 99 SHaR %

Conclusions: / fAwpd:



I. All tigers are lions / I. @i g AW T

II. Some animals are not tigers / II. $© WHa3 919 78l &
® Only conclusion | follows / *ad fspd 1 Apadar %
® Only conclusion Il foIIows/aﬁﬁ forsey 1| fpaar %
® Both conclusion | and Il foIIows/a':ﬁ frpy 1 3R 11 o %
e None of the conclusion I or II follows / =pd I a1 11 & A g &1 Fpaar g

Correct Answer :-None of the conclusion I or II follows / =pY 1 a1 II # @ ®I5 8l Fpaar

g

18)
Question Stimulus :-

Which city was the capital of the Vijayanagara kingdom? / cack:| e faoaTR Irsg &t IS BT hdl YI?
® Mysore / ﬁﬂ?
® Tanjore / GRS
® Hampi/ Euﬂ
® Belur / W

Correct Answer :-Hampi / g9t

19)
Question Stimulus :-

According to 2011 census, which of the following states ranks the last in overall literacy rate? / 2011 P SFIUET &

IR, FufifEaa wsal # | &9 91 90y JieRd = § 999 fUssrgang?
® Rajasthan / IR
e Uttar Pradesh / 3<IR WX
° Bihar/ﬁ?'l'\r
e Madhya Pradesh / 94 U

Correct Answer :-Bihar / f98R

20)



Question Stimulus :-

Who was the first woman Chief Minister of Independent India? / Tda HRd 31 uyw uigan H@'Fﬁﬁ B oA
® Jayalalitha / STA@ferdr
® Padmaja Naidu / USISIT ATAg
® Sucheta Kriplani / gddT $UaTt
® Vijaya Lakshmi Pandit / foorg wedt ufga
Correct Answer :-Sucheta Kriplani / JadT $Uart
21)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / A9 Uy @, tga @ el & diw forelt R ¥ FI3 Hay 3| 9 fAee & § @ur ug g
foraeT iR g & I1Y IH UPR F1 HEY 7|

LJH : KKI :: CIA: ?
® BJB
® BBB
® DBB
® CBzZ

Correct Answer :-BJB

22)
Question Stimulus :-

is celebrated in India on 215 of April every year. / HRd ¥ 8% a¥ 3id #1 21 dRRa &I R
ST g1

® Civil Services Day / fifde Jar feaw
® Good Governance Day / R feaw
® Army Day / 1 feaw

® Teachers Day / e faaw

Correct Answer :-Civil Services Day / fufaer Tar feaw



23)
Question Stimulus :-

A sales representative plans to visit each of six companies M, N, P, Q, R and S exactly once
during the course of one day. She is setting up her schedule for the day according to the

following conditions: / T& fagrar ufafaf¥r 3 gisAT 9991 &1 98 M,N,P,Q,R 3R S ©: Hufaul # &3 &
Fu-t | i & foranfaf & vo IR a1 39 I9@T &7 &1 SR 9 fan A wal & SgER

1. She must visit M before N. / 1. 38 N ¥ Ugd M ¥ fra=1 =nfgwi

2. She must visit N before Q. / 2. 39 Q ¥ Ugd N ¥ fira=1 =nfgul

3. The third company she visits must be P. / 3. IR &u-1 forgw ag wirdt 8 P g1 =gl

If the sale representative visits S first, which company must she visit second? / 3R faspar

wfafAfY ugdt s & oran 8, o FiF W Fu A 95 GO IR TRET?

°* Q
Correct Answer :-M
24)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawea ﬂ'ﬁl‘t{
it f3T T Sy ud fAshuf & 9 § 9 2

Statements: / ®YH:

All shampoos are soaps. / I ﬁ'{w gl

Some shampoos are not oils. / $9 ﬁ'q\aﬁ T2 B
Conclusions: / fassd:

I. All oils are soaps. / 1. It da GIEGH %'I

I1. All soaps are oils / II. 9 IIg a4 &1

® Only conclusion I follows / Pad frewd I fAPpadr &
® Only conclusion Il follows / Pad f=rsmd 1| fHadT &



e Both conclusion I and Il follows / Il fepd 1 3R 11 frpea @
® None of the conclusion I or II follows / Al 1 ar 11 ﬁﬁﬂﬁﬁ T-Iﬁﬁib_cﬁﬂ?

Correct Answer :-None of the conclusion I or II follows / A=pd I a1 1T # | ®I5 81 Rdaar

g

25)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
g, ab sl R IR RewHsE FIa= 2 -

It is not true that both horses and zebras have stripes. / U8 9d 78! g f& 2 918 3R ST &
1 gt g1

. g:ﬁ's%gs have stripes and Zebras have stripes. /918! & uri¥ai g} € iR Sa”T & urfyai
|

® Horses have stripes or zebras have stripes. /W%W@?ﬁ%ﬂﬁﬂﬂ% urfeat gt
gl

e Horses and Zebras do not have stripes. / O1SI 3T S=T Q1 & urfvat 9&Y gl g1
e None of the above / IWRIad HIs el

Correct Answer :-Horses have stripes or zebras have stripes. /Eﬁﬁa? it gt 8 ar
Sea’T & Hifvai gt g

26)

Question Stimulus :-

The largest road bridge of Madhya Pradesh is located across the river. / S USRI I GaH aﬁ qs&d Jd

T rPwRfRER
 Narmada / Tl
® Tawa/ddl
® Chambal / ddd
e Tapti / araht
Correct Answer :-Tawa/ddl

27)

Question Stimulus :-



In the following numbers sequence, how many such even nhumbers are there which are
exactly divisible by its immediate preceding number but not exactly divisible by its

immediate following number? / fafifad @ srgww ¥, fFat Wi G- 3 < fasa s9&
depTer qdadl =T ¥ faursy 8, afeT su9d aorra Rufafea v @ faga fausy T8 82

38415728348939421582

e One / T&h

e Two / ﬁ

e Three / diF

* Four / dRR
Correct Answer :-Two / &
28)

Question Stimulus :-

If cream cracker means computer programming, and it’'s programming, then it's cream

cracker. / Gfe P HH BT Adad B NI 3, 3R Tg WA 8, 99 T8 HIH $He 8
* True / Hg!
* False / Tad
¢ Maybe / & WHal @
* Irrelevant / 3MTHRS
Correct Answer :-Maybe / 8 I&dT &
29)

Question Stimulus :-

Who among the following Chief Justices of India was born in Madhya Pradesh? / HRd ¥ fRufafaa e LC2

etz # | 19 7y w7 1 gu A2
® TS Thakur / &1 TH 3T
® HLDattu / T T &g
® JS Verma / o TH quf
® Altamas Kabir / 3[edH¥ HAR

Correct Answer :-J S Verma / & Tg gHf



30)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg oo ﬂﬁt{
Sit 3T T y=l Td el & R d 98 R

Statements: / ®Y-:

All games are movies / 9 @ firedt €
All movies are bags / Il fibed 7 &
Conclusions: / frsst:

I. All games are bags / I. 93 @d a7 &

II1. All bags are games / II. Tt o @ %

® Only conclusion I follows / *ad faspd 1 Apadar %

® Only conclusion Il foIIows/aﬁﬁ fremd 11 fRrpear %

® Both conclusion | and Il foIIows/?ﬂtﬁ forepd 1 \?rﬁ'?' II foad %

e None of the conclusion I or II follows / =pd I T1 11 & A P 181 Fpaar g
Correct Answer :-0Only conclusion | follows / ad ey 1 fAeadar %
31)

Question Stimulus :-

The highest peak in western Ghats is / uf3rft gre # gat= RReR 8:

® Annaimudi / ng'ﬂ:‘ﬁ

® Mahendragiri / Il%?('ﬁr\ﬁ

® Saddle peak / Jsd qdd

® Blue mountain / GT’L'FI'I'G%W
Correct Answer :-Annaimudi / 3FTSYS!
32)

Question Stimulus :-

In the following diagram, the circle represents college professor, the triangle stands for
surgical specialist and medical specialists are represented by the rectangle. / = GI'I?TI%I



T, 9 Pias & MbER I Wdd Hal 3, FAdivr gxiiar 8 xfafras ARy o smifasm v smaa
ERT U {53 1 )

College professors who are also surgical specialists are represented by / P BlA &

TS SR Teffhe® Rl S yegd S 3
e A
e B
e C
e D
Correct Answer :-D

33)
Question Stimulus :-

The Quwwat-ul-Islam Mosque is to the north-east of which monument? / Podd-JA-FIH 'FI'%IE foa WRe &
IW-yd # 82

® Victoria Memorial / et amfyaa
® Taj Mahal / dTsl Hgd
® Humayun’s Tomb / E'FIT!iW HbH T
® Qutb Minar / W’Fﬂqﬂ
Correct Answer :-Qutb Minar / $IHIAR

34)

Question Stimulus :-



Find out the pair which is different from the other in the following question. / faay o
98 W [Td P S qrfhal I 3@ 3|

e Black and white / &Tdl 3R H'ao_c{
e Inand out / 3aX 3R AT
e Weapons and arms / & 3R gRAR
e High and low / 3T 3R
Correct Answer :-Weapons and arms / % 3R gf¥@R

35)

Question Stimulus :-

Kailash Satyarthi found a child — friendly movement in 2015 that gives free education and protects children from
exclusion and exploitation. What is this movement called? / Far Fgardf & Th g1 faer - 2015 & T
AP Agia St =l B (: e e a1 3 T IfTTHR TUT MY0T A IS I8 Hal 31 39 g &t
T $T 1A 82

® Bachpan Bachao Andolan / IdU- ST Sfigia

® Bachpan Saksharta Protsahan / SU- HI&RdI 'ﬁ?\‘l’lﬁq

® Bachpan Shiksha Abhiyan / ddU- Rrem efim™

® Bachpan Anurakshan Seva / U= S{JR&UT aT
Correct Answer :-Bachpan Bachao Andolan / S99 a3 GIW
36)
Question Stimulus :-

I. There is a group of five persons A, B, C, D & E. / I. Ul saf&mdl A,B,C,D 3R E &T U& Iqg gl

II. One of them a horticulturist, one is a physicist, one is a journalist, one is an industrialist
and one is an advocate. / II. 38 ¥ T& 3T faRvy 8, T& Wfde Il 8, T6 THR §, Th
IERTUfa ® 3R U Il g

II1. Three of them A, C and Advocate prefer tea to coffee and two of them B and the

journalist prefer coffee to tea. / III. S8 ¥ diF, A,C 3R THId HIPI S T I1Y UIE P & iR
3, B 3R UIHR 910 & IO BIB! YIS Hd gl

IV. The industrialist, D and A are friends of one another but two of these prefer coffee to

tea. / IV. STNTUR, D 3R A TP g & i § IRg 370 A &t I & 99 BB UHg Hd ¢
V. The horticulturist is C’s brother. / V. 32 faQugy € &1 4TS 21

Which of the following groups includes a person who likes tea but not an advocate? / fa#



¥ P A IYg A 98 TP Afad ¢ o) 919 Wig ¢ W I8 991 a8l 82
* DE
e BD
e CE
* AD
Correct Answer :-AD

37)
Question Stimulus :-

Which river is called the “Ganga of Madhya Pradesh”? / foa qﬁ B "HY EI%'-‘ZT CARIDI bl SIidl %?
® Narmada/ qﬂﬁT
® Chambal / ddd
® Betwa/dadl
® Tapti/ ATl
Correct Answer :-Betwa / Sddl

38)

Question Stimulus :-

The Lokpal and Lokayuktas Act received the assent of the President in ./ AuTd 3R ?ﬁm Sferfraa
Cal # pufa 31 geafa ww g3 A

* 2014
® 2013
® 2015
* 2012

Correct Answer :-2014

39)
Question Stimulus :-

X+Y means X is the daughter of Y, X-Y means X is the husband of Y, XxY means X is the



brother of Y. / X+Y BTHAGAT 8 X, Y P19 8, X-Y FTHAA & X, Y BT UfA &, XXY BT HAAT & X, Y

BT M 2l

If AxB+C, which of the following is true? / ?-T% AxB+C %, ar ﬁ'ﬂ'ﬁﬁﬁq WW%?
® Aisthe brotherof C/ A, C®HI lﬂé%
® Aisthe daughterof C/ A, C CAKC | %
* Aisthesonof C/ A, C & deT g
° AisthefatherofC/A,CWﬁﬂT%
Correct Answer :-A is the son of C/ A, C &1 9218
40)

Question Stimulus :-

How many times the vowels precede the consonants in the word ‘RETROGRESSION’? /

‘RETROGRESSION’ ¥Ig ¥ foha=it a1% WX ool & qd | g2
o 1
° 2
e 3
e 4
Correct Answer :-4

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

1

4
2 meter of cloth required to stitch a skirt. For how many skirts can be stitched with 105

3 I 3

4 mofcloth? / Te WA RMAP R 2~ M PUSTEIZ| 105 4 0 P A Rt =¥ Rrelt
ST Ahdl 82

e 87
e 47
e 37



o 27
Correct Answer :-47
2)

Question Stimulus :-
A train covers a distance of 880 km at a constant speed. If its speed would be 15 km / hr more, then it would have taken 6
hours less ot cover the same distance. What is the original speed of the train?/ T a"'-[ ThHHA fa | Ferd gY 880 fe it
Dt gl 99 Bl g1 Al ITqBT A 15 fH/der & 9¢ o1, df SuDH! I gH it 09 FA & Y 6 9¢ H7 A ¢
P aRafd® fa a1 82

e 40 km/hr/ 40 forH/EeT

® 55km / hr/ 55 fopei/aer

e 60 km / hr/ 60 foreii/eer

e 50 km / hr/ 50 fopei/eer
Correct Answer :-40 km/hr/ 40 fHi/ger
3)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ"ﬂ &R AP sgar T ﬂﬂﬁt{ ta_cd_cda_dab _

abc
® cdbb
® bbcd
® bcdb
® bcdd

Correct Answer :-bbcd

4)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IRL] GI'I@'I%I' P g9 & o
<JAq9 "© ®¢ feadt didt yarei #t smazawar g



e 5

o 7

e 6

e 8
Correct Answer :-6
5)

Question Stimulus :-

The price of the petrol is increases by 25%. By how much percent a car owner must
reduce his consumption in order to maintain the same budget?/ ﬁ@?r P BT T 25% aﬁaﬁ
g5 | 3! gl Bl ST W & [T SR & Aifdd &I fhad ula=a 9@ @ud geH! a1iee?

® 20%

® 25%

* 30%

* 15%
Correct Answer :-20%
6)
Question Stimulus :-

In a certain code language SOLID is coded TPMJE as then in that language
METALLIC is coded as: / fofl Hidsfasw yreT & SOLID & TPMIE ¥ Hifsd fHar wiar g
a1 39 HIUT # METALLIC &) U ifsd fHar smam:

® NFUBMMID



e NFUBMMJB
® NFUCNNJD
® NFUBNNJD
Correct Answer :-NFUBMMID
7)

Question Stimulus :-

In the sequence shown below, which figure comes next? / -Id RER T4 HH ¥ AT MHfd
DI 3t giit?

Cee o8l o980 ol 1
o0 9 L lele 80 Cee
80O L 11 o] Oee
alel ]
CO®
o8
[ ]
olele)
00
*e e
([ ]
ol 1
e°Ce
®C0
(]
L 1 1o
QOO
L1 ]e
[ ]
Q00
200
*e e

Correct Answer :-

8)
Question Stimulus :-

Three persons formed a company by investing Rs.6000, Rs.8000 and Rs.5500
respectively. If they got Rs.1950 as profit, then what is the profit share of the

2"d person? / 9 AfRIdl A HH: $.6000, F.8000 3R ¥.5500 fAAY HIP5 TH HUI
IRE Bl 3R D! $. 1950 & AT e g @ 2 safdd & a1H ST AU foba-r 82



e 1100

e 900

« 800

e 600
Correct Answer :-800
9)

Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt lim means hard rock music. Which is the word
for frills in that code language? / {5 W ®Is YT H, bart il arn &1 HAAd § thrills
and frills, hed mik ain T Hddd % diamonds are forever, ad ket hed &1 Hddd %
hard as diamonds, lim arn kelt &1 Hddd % rock music thrills, ket kelt lim &1 Hddd
® hard rock music | St B8 U | frills & T 1 g 82

® Dbart

° I

® arn

® bartor il
Correct Answer :-bart or il
10)

Question Stimulus :-

In the foIIowing questi_on, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, I 4@ A TP US A 8| TAd UG FId BRI

2,3,5,7,9,11,13,17
e 11
e 13
9
e 7

Correct Answer :-9



11)
Question Stimulus :-

If the code for PRACTICE is QSBDUJDF then what will be the code for CONTACT? / Tfd PRACTICE & ford SIS QsBDUIDF @

df conTACT & ford =T Pis BRI
e BDODPUV
® DPOBDUV
® PDOBUDD
e DPOUBDU
Correct Answer :-DPOUBDU
12)

Question Stimulus :-

The series given below contains a sequence of'al'phabets and numbers. Identify tI)e
incorrect combination: / R & T3 sRaer &Rl U WS HT SHH WART el §] TaAd Ao
qgaI-d|

(i) HS8PSAHSCSD

(ii) HS8PASHSCSD
(iii) HS8PASHSCSD
(iv) HS8PASHSCSD

Correct Answer :-i

13)
Question Stimulus :-

Complete the series choosing the missing number: / AW JBAT FAHR STAT B TR BIOMT :



6,13,28,59,
e 120
e 121
e 118
e 122

Correct Answer :-122

14)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ'ﬁ"ﬂ &R AP STdr T ﬂ'ﬂm taa_bcc_a_bcc_
abbc _

® babac
® bbaac
® baabc
® bbacc

Correct Answer :-babac

15)

Question Stimulus :-

A box contains 4 green, 5 blue and 4 red balls. One ball is drawn at random. What is the probability that it is either green or
red? /T® 9T H 4 g1, 5 BTaT 3R 4 16 g WA &1 TP Tig B ATHG &1 A fHrpran Sirar 3, F1 GUE- 8 % 98
g ATt T FtAe e

* 9/13
e 7/13
® 8/13
e 1/13
Correct Answer :-8/13

16)

Question Stimulus :-



A and B can together finish a work in 30 days. They worked together for 20 days and then B left. After another 15
days, A finished the remaining work. In how many days A alone can finish the job? / A 3R B ™ HI 30 foi &

TRT P TFHd 21 d 20 3 9% T H1 Fd € MR b B F10 Bis a1 81 3FTd 15 A1 & Uy, A I}
BT B R BT AT 31 A b fraq A1 & S & @1 % Jwdar 82
* 40 days / 40 f&
* 30days / 30 fa
e 35days / 35 feq
e 45 days / 45 feq
Correct Answer :-45 days / 45 fe
17)

Question Stimulus :-

A bag contains 8 white, 5 black and 4 blue balls. One ball is drawn randomly, what is the probability that it is neither white

nor blue ball? / T ST & 8 g, 5 BT 30X 4 el g fAa &1 v g D) fAfdrad & A R s g, |
UG g P ag T dl Tbg g R A g A T Hr e g2

* 5/17

* 8/17

* 4/17

* 6/17
Correct Answer :-5/17
18)

Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt Iim means hard rock music. Which is the word
for diamonds in that code language? / {5l @I &S U #, bart il arn F1 Hded &
thrills and frills, hed mik ain &1 Hddd % diamonds are forever, ad ket hed &1
Hddd % hard as diamonds, lim arn kelt &1 Hddd % rock music thrills, ket kelt Iim
BT Hddd % hard rock music | It HIs YT A diamonds & fore &1 T %?

® hed
® mik

® ain



® |Jed or ain
Correct Answer :-hed
19)

Question Stimulus :-

A car costs Rs. 60,000 when it is new, after one year its value goes down to Rs. 40,000.By
how much percent has its value decreased? / Tdh HR old ar T g dd 60,000 IUY Bt %I Th CL
¥ 9I¢ 3UP! BId 40,000 FUA 1 Teft W1l 81 39 FR & Yo § fban wfazra fvmae ong 82

1
e 433

Lad | =

e 33

Lad | =

e 53

1

e 23 3

1
Correct Answer :-33 -

20)
Question Stimulus :-

14/7)x16-(15x2)+(48/3)5=?
e 62
e 72
e 82
e 02
Correct Answer :-82

21)
Question Stimulus :-

How many different six letter words can be formed using the letters of the word ‘PENCIL if repetition is not allowed? / '!Tﬁ'

TR 3R T8 8, 99 ‘PENCIL T F 3&RT BT UANT S TE &R F fhad AN g o9 Toa &2



e 700
e 720
e 740
e 760
Correct Answer :-720

22)
Question Stimulus :-
The length of a rectangle increased by 20% and its breadth decreased by 20%. What is the change in its area?/ 3TAd
1 da1S F 200% Pt T FI T3 R ASTE DI 20% PH B f§71 TATI IS &G H fpa-n ufiad=
g3tl?

® Increase by 4%/ 4% dgal

® Decrease by 4%/ 4% YcI

® No change / ﬁé uf¥ad= :Iﬁ

® None of the above/ :mﬁaa = | m :I'gT

Correct Answer :-Decrease by 4%/ 4% Hcl

23)

Question Stimulus :-

A7B06 x 156 = 5B977A6

Where A & B are representing different numerals; find the value of ‘A’? / A7B06 x 156 = SB977A6 STl A 3R g fafta
TEI® §; a9 ‘A BT 9 Apife|

e 5
e 4
e 3
e 6
Correct Answer :-3

24)

Question Stimulus :-



Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 fed 78 IR val & ¥ = A T vad & i IHE F19 91 v T8 82

Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(i) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(ii) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(iii) Beauty Mountain Whitewater Trippers, Inc.
General Delivery
Edmond, West Virginia 25837

(304) 574-0211

(iv) Beauty Mountain Whitewater Trippers, Inc.
General Deliver
Edmond, West Virginia 25837
(304) 574-0211
o i



Correct Answer :-iv

25)

Question Stimulus :-

13 ,1_3
E 6 A E G 7
find x. / X JTd i
13
4
[ ]
14
. 9
]
|
e None of these / $9H ¥ &I 8!

14

Correct Answer :- -

26)
Question Stimulus :-
A man’s average monthly savings is Rs 750 during May, Rs 825 during June and Rs 775
during July. Find the average monthly savings for the three months? / T& 3ficH! &1 g A
7ER 1 3 d 99d 750 T 7, 97 § 825 T AR JAS A 775 T € | &9 7N & ¢ v F 3hwd w=a
Areifee?

o 788

e 790

o 783

e 780

Correct Answer :-783

27)



Question Stimulus :-

A dealer marks his goods at 35% above the cost price & allows a discount of 20% on the
marked price.Find his gain or loss percent? / UT® fashar s HIE H AR e ¥ 35% W fafed
Fal ¢ 3R 39 FRAffd qeu T 20% & ge a1 31 TSI @Y a1 g1 Ufa=Id &1 udr e

* 8%
* 7%
* 6%
* 5%
Correct Answer :-5%

28)

Question Stimulus :-

In a flight of 600 km an aircraft was slowed down due to bad weather. Its average speed was reduced by 200 km/hr and the
time of flight increased by 30 minutes. The duration of the flight is;/ 600 fet &t IS H Tdh fawm &Y vfa @R ww
P PRUT HH B &l T ITP! 3N A 200 fHl/Her HH F1 Sl @ Fafh ISH &1 99T 30 e T@ I S

21 IS H T+ 1T 9Hg gRI
® 1hr/1YcT
e 2hrs/2%¢
® 3hrs/3EC

® 4hrs/4°c

Correct Answer :-1hr/ 1 ¥eTl

29)
Question Stimulus :-

In a certain code language, bart il arn means thrills and frills, hed mik ain
means diamonds are forever, ad ket hed means hard as diamonds, lim arn kelt
means rock music thrills, ket kelt lim means hard rock music. Which is the word
for rock in that code language? / f&ft W Hs U H, bart il arn &1 HAAd § thrills
and frills, hed mik ain T Hddd % diamonds are forever, ad ket hed &1 Hddd %
hard as diamonds, lim arn kelt &1 Hddd % rock music thrills, ket kelt lim &1 Hddd
® hard rock music | 381 IS U § rock & forg =1 7Isg @2

® [elt

® [im



® kelt or lim

® Neither kelt nor lim
Correct Answer :-kelt or lim
30)
Question Stimulus :-
Complete the series choosing the missing number: / AW IWAT FADHR SGAT BT TR BIC :
1,3,5,11,21,

e 43

e 42

. 44

e 41
Correct Answer :-43

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-
If sin A = 1/2, then sin22A = / TS sin A = 1/2, 99 sin2A =
° 12

* 1/4

e 3/4
32

Correct Answer :-3/4

2)
Question Stimulus :-

A customer purchased a laptop bag with a price tag of Rs. 2000 in a sale where 30%
discount was being offered on the tag price. The customer was given a further discount of
10%. The final amount paid by the customer was: / Th Ylgd 2000 FUT I & & gt Th
AUeiy A 1 U Jd H Wl @ w8l &1 Jod W 30% P e yad &1 o W A1 IeF $1 10%



Sfafiad e UM 1 Al §1 I8P §RT YA St Tt sifaw iy
® Rs. 1500
® Rs. 1625
® Rs. 1260
® Rs. 1400

Correct Answer :-Rs. 1260

3)
Question Stimulus :-

In case of a fire accident in a cracker manufacturing factory which number would you dial to call the Fire and

Rescuementoputouttheﬁre?/mmmﬁﬁmmﬁmﬁmm?wéﬁ?
919 U1 B SR g3 B A &b fU S 91 T S1hd B

e 100
e 101
e 102
e 103

Correct Answer :-101
4)
Question Stimulus :-
Ifx:y=2:1,then )@ —y?): (P +y?)is: /AR x:y=2:1, a9 (P -y?): (* +y?) B:
® 1:3
e 5:3
e 3:1
e 3:5
Correct Answer :-5: 3
5)

Question Stimulus :-



Marbles kept in water look enlarged because water acts as a / it # a1 " d CEE ﬁm‘é GGl %, e
Ut 39 U H ST Tdl §

e Concave lens / 3add ag

® Convex lens / 3I9d a9

® Magnifying lens / Smade a9

e BothB&C / BUTd C gl
Correct Answer :-Both B & C / B & C Gl
6)
Question Stimulus :-

Which pigment gives red colour to blood? / P19 AT 9uics Tad A &rel T a?IT %?

® Serum globulin / HRA "ﬁ-ﬁgm
® Serum albumin / A E?Ogﬁl_"l
® Haemoglobin /ﬁ'l:ﬁ"?ﬁﬁ:l

® Plasma protein / WITSTHT me=

Correct Answer :-Haemoglobin VG IRGIIER]

7)
Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information
provided. / IR eI A TS Ha&ur maifora frar mar forad ufawnfral & ¢or # 949y fpdre faarst & forw
dic B gl a1l 9 TR 1T TER A IR f[afeal #) e 1u diel $1 Sen ard 81 Sudsy
HRS T3 THPR! BT ITUNT H 7 usf F IW S|



Delhi
Mumbai Kolkata/ Chennai

Player / /==t = Faz CoEEar I e

=

Sachin/ #fa= 125 225 7h 100
Rahul / wg=r 100 175 125 175
Virendra/die 250 125 100 75
Mahendra/ =&w 25 75 200 50

If one of the voters from Delhi is randomly selected, what are the chances that he voted for Mahendra as the best player? /
gfe fRwtt @ o AdcEr B HHRRT & | AT ST 8, T GHET § [P a8 de% & fow wddy f[{adt & «=u
# HAgH Pl g2

® 6.25%

® 75%

® 10%

® 125%
Correct Answer :-12.5%
8)
Question Stimulus :-

Conventionally, the charge acquired by glass when rubbed with silk is considered to be/ Sid PId B IIW & 1Y
ST ST ad HId gIRT S(fofd A Fibfad &9 F HHAT JTQN

® positive / YATHD

® negative / BUTHD

® neutral / 3G

® either positive or negative / Ul I YATHS T BUTHS

Correct Answer :-positive / UTHD

9)

Question Stimulus :-



In AABGC, if LA = 90°, which is the largest side? / AABC ¥, af¢ LA = 900 & 9aq Tt Yol HIF
W g2

® BC

e AB

® AC

® CA
Correct Answer :-BC
10)

Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the nhumber of votes given to the
four players in each of the cities. Answer the following questions using the information
provided. / IR W3 A Ueh Ha&UT maifera forar wam s ufauiiiral &) ¢ # 949y fhdpe st & forg
dic A &1 Tl T Y AT Tae WeR @ IR fafsal S iy v diel $t @ ard 31 Sudsy
HRS T3 TG BT ITUNT HX 7 usf F IW S|

Delhi
Mumbai Kolkata!/ Chennai

Player / /==t e lFas wIARTT  [fdves

=

Sachin/ wfa= 125 225 75 100
Rahul / 1iger 100 175 125 175
Virendra/di=g 250 125 100 5
Mahendra/ =gz 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he had voted for Rahul as the
best player? Tf¢ Tt TR WERT A TH HagEl B HHRIRd &1 & TAT AIAT 7, T UG 3 {5 ag g & forg
49y IS & U & Hae Har 82

5%
6.25 %
8.75%

10%



Correct Answer :-5%

11)
Question Stimulus :-

x 20, y20 and x + y =1 graphically represents a ./ x20,yZ0and x + y =1

gafa ©u 9§ a5 gxifar g
a triangle in the first quadrant / Tgd ﬂﬂﬂ'&ﬂ i i Th et

a triangle in the second quadrant / W ﬂﬁ‘ﬂf‘«’l H s et
a rectangle in the first quadrant / Te'@f EIT:[QIf'SZT i Th 3Tdd
a rectangle in the second quadrant / §'\‘ﬁ' ?@%If'!ﬂ H TP Aad

Correct Answer :-a triangle in the first quadrant / Ugd il‘g’ufqr H T i

12)
Question Stimulus :-

Which of the following statements is true? / ﬁ'ﬂ' 7 S gl Y 9 %?
Two congruent figures are always similar. / 3 Jafaw W Ted IHFY gt gl
Two similar figures are always congruent. / 33[ TJHE=Y GﬂTﬁTﬁ H%?i gatTaH ﬁ?ﬁ %I
Any two equivalent triangles are congruent. / a?rs" 3 qHmE (RG] ﬁ’{-ﬁr gafmraH G| %'I
Two isosceles triangles are always similar. / & W@aﬁ ﬁ‘{-ﬁl Hed UHEY B gl

Correct Answer :-Two congruent figures are always similar. / a‘r gatTaH GI'ITRI'QT w%a qHE=Y ﬁ?ﬂ %'I

13)
Question Stimulus :-

Which of the following is NOT a reason for preferring Chromium for electroplating objects such as car parts, bicycle

handle bars, kitchen stoves and bathroom fittings? / PIFaH &1 gyt o PR P HI, m %W ]S, Wﬁ%
IeeT Ud AR fpfe & fagaa dus & adtaar 33 &1 fFm & @ &9 w1 oru a8 @@

Chromium has a shiny appearance/ﬁ'ﬂﬁl’qﬁ Bl Y JHDHGIR %

Chromium does not corrode / ﬁﬁﬁl'q'q ﬁ H&‘I’N qﬁ' a?lT

Chromium resists scratches/ﬁﬁﬁl’*ﬂ? @RI B ADed] %

Chromium is a cheap metal compared to iron /aﬁﬁrcm ?ﬁ% 3| LR H gxit urq %



Correct Answer :-Chromium is a cheap metal compared to iron / wifayg ?ﬁ% | g o Ot 1 | %

14)
Question Stimulus :-

The distance-time graph for an object, moving with a constant speed will be a / R nfa | afewm Udh d¥q &

fore gft-wwra T g -
Curved line / P 3T
Straight line / ¢ T
Line parallel to X axis / X 3{&f & JHTHTGR 3@T
Line parallel to Y axis / Y 3{&f & JHTHTR 3ET
Correct Answer :-Straight line / I3 ¥@T
15)

Question Stimulus :-

Raj picks up a three digit number and subtracts it from the same number after reversing
order of the digits. If the difference is divided by 9, then the remainder is
/ TS TP <A 3ihl Bt TRAT H AT 8 Td P! b HH I Iobiid HI & dle, ST G | ¥erEar ¢l aflg
3R P 9 ¥ fawifora fFar wig, 99 2w gl

2

3

Correct Answer :-0

16)
Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information

provided. / IR g3 W TP Hdeur mford far war od ufawfral & 31 # ad9y fvde faarst & fore
dic $3A B! Bl T Y aifereT e weR @ IR faafeal #1 o v 9icl #1 9en farnd! 81 Suasy
PIIS TS THSR BT STANT ST A7 ugi & IW S|



Delhi
Mumbai Kolkata! Chennai

Player / /&=t e fFaE wawEr s

=

Sachin/ wfa= 125 225 75 100
Rahul / Ig=r 100 175 125 175
Virendra/die== 250 125 100 75
Mahendra/ #gg 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he either “belongs to Mumbai
and voted for Mahendra” or “belongs to Chennai and voted for Virendra”? / ?Jﬁ Hq-ﬁ IR m ﬁ Udh Hdgldl 3|
PIRRT & | AT oGl 3, TT HHET 3 fF 98 "4as & Siavla 3imar 3 3R Iu1 #es & fore wae far
"AAS &b Ata T 7 SR I IR & forw wdgy f¥ardt F wu A waeE fHar?

8.75%

7.5%

6.25%

5%
Correct Answer :-7.5%
17)
Question Stimulus :-

Identify the CORRECT statement about cyclones: / dshdld IR A ﬂ'&ﬂ HYF Bl 'qgil'l'ﬁ'[{ :

High speed winds circulate around a high pressure region / 3=l qId 8-3'5[ & U I fd sar&
gfearfea gt §1

The coastline of India is not vulnerable to cyclones / HIRd & dY g dc dshdld * ﬁ’ﬂﬁ T-Ié:'f %I

The wind direction is clockwise in southern hemisphere and anticlockwise in northern hemisphere/ml'uﬂ

Mard & arg &t fexm gféomad gidt @ ik S mand & arg &Y fa=m amwmad gl 31
The wind direction is clockwise in both hemispheres / dTg 3| ﬁi'{lT ﬁ:ﬁ Treref & E'fE'I'UTIH?f Eﬁ’cﬁ %I

Correct Answer :-The wind direction is clockwise in southern hemisphere and anticlockwise in northern

hemisphere / &f&foft Trard & arg ot fa=m gféromad gidt @ i St Mand & arg & fa=m amamad gidt 31

18)



Question Stimulus :-

If the area of a square is 256 m2, find the perimeter of this square. /afe Udh T BT &THA 256 Hiew? %, o 39 Tt
T URHTY J1d PIfoTT |

16 m / 16 Hiex
12m /12 R
64 m / 64 Hiex
32 m /32 Hex

Correct Answer :-64 m / 64 Hiex

19)
Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the number of votes given to the
four players in each of the cities. Answer the following questions using the information

provided. / IR g3 § TP Jdeur A fasar war oA ufavnirar &) 3z # 9d9y fhde Raarst & fau
dic ®A B Fel 111 [ aifeeT e e A IR faafeal #1 Ry e gl $1 e faand 81 Suasy
PIS T3 PRI BT SUANT B 77 usl & IR S|

Delhi
Mumbai Kolkata! Chennai

Player / /==t e IFas Fawar [

=

Sachin/ |+ 125 225 7h 100
Rahul / wg=r 100 175 125 175
Virendra/#i=z 250 125 100 75
Mahendra/ #i&s 25 75 200 50

What percentage of all the voters voted for Mahendra as the best player? / II%? & T%I'Q' ﬂéﬂ'ﬂ' @Fﬂé’f *» U H HdgH
P ard Gt waerarstt 1 ufasa w82

17.5%
195 %
22%

24 %



Correct Answer :-17.5%

20)
Question Stimulus :-

The branches of the tall trees look like a roof over the other plants / L] a?:' Al RUREHY il W el W Bd Bt
yifa fears &t & 3 g h

Crown of the tree / US &1 qPpc
Canopy of the tree / aS' @t faart

Under storey of trees / a@i & foa= & =
Shoot system / Elﬂ? JUTeit

Correct Answer :-Canopy of the tree / US &1 fadarit

21)
Question Stimulus :-

Find the perimeter of the sector of angle 60° of a circle of radius 21 m. /21 ficx 3= &
Jd ¥ 600 PV & Tdex BT URHATT JTd BIfoT|

22m /22 HeR

11 m /11 HleX

44 m [ 44 Hex

44/3 m [ 44/3 Hiex
Correct Answer :-22 m/ 22 Hiex
22)
Question Stimulus :-

Pure water can be made to conduct electricity by dissolving / R[& ST¢l H g e ﬁ?ﬁfﬁ' BT Jordd HRardm
ST 9HdT 8

Vegetable oil / gIwfd dd
Honey / Qg
Common salt / GTYIRUT <ddUT

Sugar / CiRil



Correct Answer :-Common salt / HTYIRUT ddU01

23)
Question Stimulus :-

A survey was conducted in four cities in which participants were asked to vote for the best
cricket player in the country. The following table shows the humber of votes given to the
four players in each of the cities. Answer the following questions using the information
provided. / IR W3\ # TP Faaur maiferd far man s afawifral &) ¢ & gd9y fbdpe et & forg
qic $34 B BT T Y afereT Tde weY @ IR faafeal #) o v 9idl 31 4= fard 81 Suasy
BRI T3 TGN BT ITURT H 7 usf F IW S|

Delhi
Mumbai Kolkata/ Chennai

Player | @amt | fiew=l ECE FAFET oS

=

Sachin/ wfew 125 225 75 100
Rahul / mg= 100 175 125 175
Virendra/di=s 250 125 100 75
Mahendra/ #gs 25 75 200 50

If one of the voters from all the four cities is randomly selected, what are the chances that he “belongs to either Delhi or
Kolkata” and “had voted for Sachin as the best player”? / gfe gt IR m | U Hdgldl Al H'TFR%?T ek g1
ST 8, T UG ? 7 98 "Rt a1 siaear & siavia s 8" ok 3w “ake & fog aday st &
¥4 # gagH fear?

7.5%

8.5%

10 %

11.5%

Correct Answer :-10%

24)

Question Stimulus :-

Slides in the park is polished smooth so that / T Bt '\‘?I'Iﬁ?ﬁ &1 ¥ urferzr frar SiTan % arfe
Friction is increased / T¥ur § gf3 &t
Friction is reduced / gy & Tﬂﬂ?f



It can look attractive / Y THYD ﬁ@

Friction is eliminated totally / qyur Qﬁ GEE J [+3 33[ Sy

Correct Answer :-Friction is reduced / 94U & &4l g

25)

Question Stimulus :-

Why are pickles stored in plastic containers or glass bottles and not in Aluminium containers? / 3MERT P
WIife® & Ut a1 ®id @1 Rt d 49 Jug fear srar 8 ok vegHiftaw & s & ) fear s

Because when placed in glass & plastic containers we can see what is inside. /aaﬂ% g $id 3R

e Ul H SERT &1 @M STdT @ df 84 SUP <Y ¢’ Jod ¢l

Plastic & glass containers are light and easy to handle. /m 3R &I & U 3@7 Eﬁ% % 3R FHTAA
# 3T gid 7

Plastic & glass containers can be recycled after use. | @fe® 3T T & Ul BT TR & dTq Y4sh
far o W& 71

Because Aluminium metal reacts chemically with the acid present in pickles. / Hife AR # SufRE

I & ATY TegHI-a o1g I sfufehar St g

Correct Answer :-Because Aluminium metal reacts chemically with the acid present in pickles. / e

AR ¥ IufRA 3 & 1Y TegHifaw g Imafae sifufrar -l 31

26)
Question Stimulus :-

Self Pollination refers to the / TdURTITUT 3'\& T wear %

Transfer of pollen from anther to ovary of other flowers / WRRT &1 WRAT-HI A 3 Wﬁ
& SR | IR
Transfer of pollen from anther to stigma of the same flower / 34t pd F WA FT RA-HI F ﬁg’
# argfmr
Transfer of pollen from anther to ovule of different flower / §'\‘ﬁ' Pd & T BT RAT-SIA F dieris
H 3rgf
Transfer of female gametes from anther to stigma of same flower / ! e &1 wr-e 3 3 A
& gfaig ¥ ergfmon

Correct Answer :-Transfer of pollen from anther to stigma of the same flower / 34t Bdd & IR FT

WRA-HI J efdag # srgfeson



27)

Question Stimulus :-

Yyl B A —
Find the sum of roots and product of roots for the quadratic equation 22" —5x—4=0 / feuma

wgRor 2% 574 =0 % fyg et 1 9 IR qEt T U R

ka2 | Lh
[ o]

Correct Answer :-

28)

Question Stimulus :-

Moss and ferns reproduce by / ®TS 3} TUITT TR=cdTied BId &
Budding / §Ha o
Fragmentation /ﬁ@“@“—f I
Spore formation /é:‘TrlTlI[ frmfor @
Cuttings / el I
Correct Answer :-Spore formation / §taIT9] femfor &
29)

Question Stimulus :-

During heavy exercise, the muscle cramps is due to the accumulation of / TR erarg & ?:?R'Fl, Uit QB_"T

U HI99 S SR EA &
Alcohol / TehIgrd
Carbon dioxide / CACE] mﬁﬁﬂﬂﬁg



Lactic acid and carbon di oxide / dfde® 3t 3R Brad mgar‘l%mstq
Lactic acid only / Pad dAfdes

Correct Answer :-Lactic acid only / $dd dfded

30)
Question Stimulus :-

The S.I. unit of Pressure is / QId C3| WGITEF '&"aﬂg % :
Newton / <JcH

Kg/m3

Pascal / UI¥h d

Joule / &

Correct Answer :-Pascal / UI¥hd



